(2) &
7 EBRRUVERUNDHEFKE

=

(5248 A 1 HETE)

i3 i) % e EF LS HoE F &

B BF OB R W 23 23
# % #H B W 14 9 23
moR OB T G 19 7 26
m OO HE = 4 6 10
Rl X #F R 8 8 16
F OO B E R 7 25 32
TSN S - I 4 10 14
AL M- AR PEY R (2) 13 (19) 7 (21) 20
R & B A& F (4) 11 5 (4) 16
K = ¥ F (2) 9 (2) 12 (4) 21
i = 6 3 9
7N 7 (8 118 (21) 92 (29) 210
RAE B\ FH T 8 17 25
M HEFFE N 9 16 25
ME BB FB I 0 . .

M OF OB AT

TR BB EH T 10 18 28
fE #ZF FH 11 18 29
K EF v v ¥ — 2 6 8
/I & 40 80 120
* B R G (8) 158 (21) 172 (29) 330




3 A 4 SR =AY PN fBoE £ F = &
WMAEHBBEE® ¥ — 7 37 44
EVEE R L 2 — 1 2 3
BN R OB X E 19 0 19
BN % fE 8 13 21
ERELISN D BB B E 35 52 87
= it (8) 193 (21) 224 (29) 417
(F) 1 HEEEFRL, HERERIHBERRICED D,

2 () NoFEX, KIRIRERBE THETH D,

3 HEICHEMERE. BEOKRERE ., ERFMEEHEIXTE DR, 2770, fEtEH
IZOWTITIB B DOERD RN OIRERE T2 TE T,




